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.o»yaon onaonn nxmp en N = {1,23,...} ()
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ANB=AYAUB=Bw,AC Bor (n)
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MRIPNN NNR 559 D2VN DIIRA 93 ORI 10 (), ; A; PR .A; mnapan nnrnp mnah D2wn D1aRD

A
JAi={z| @ieDzeAl}

el

(Ai = {z| (Vi € I)[z € A}
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A BeXmmzeXaez,pm.XwX =, ¢ A @Partition) npyn nmwn mn X 11mn
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TIINDAT
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| 2P AN Y Mnoanin (1)

X XY 50 f mphn nxap wn Y aviaph X nwiapn ( (function) mapna ) (map) npnyn
J@)=ymmunmrmpm.(z,y) € fopYarmywpre X %Y :nmpon

95 nr . f Y (range) mvn mn Y oxy f oxpnan Y (domain) n3mnn oinn nrpy X nxiapn

M f(z) = f(2') or (injective) maw mn f v oamxur.f: X — Y 1npa ondon 19xi mayn

J@)=yvpreXowpy e %Yor (surjective) by f o mmrmr .z, 2’ € X Y r =2" v
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2 € X 99 f(x) = yo nynap mepna  (R)

o€ X 9Yidx(z) =z % mmn idy > oy nnvnn id: X — X mnm npnyn (2)

n¥11p) 2N Yy N n mop 0 0 epno smir aney Pnd N n sy i won f(n) = 2n mepnan (3)
(D11 DMAYNN

navn ®n Xo or X 5 X n xpna o0 z — Z apnynn o X nxnap Yy mypw om xn R or - (7)
X 5y X n 1 TN TN pna X0 & — T npnyan ik, R 5 oma X 5w mypwn mpynnh mawn

293 )MVPI ININ NIN .O0PWHH DMIA0N SV S92 NN ,AMTY . f: X™ = Y :minwn nnoa mepna ()

[ J0P1 2NN YV NI AN ONVPY 2NN HY PO

1YY (composition) MmN PR P o g Y — Z 1 f: X — Y mpnoyn jmm
MY ,(associative) marx mn naxNN NYvaw 1> v (g o f)(z) = g(f(z)) 9w go f1 X — Z
ho(gof)=(hog)o frnr,h: Z — H naon npnyn nnm ox

Vffof =idx orwy e mman [/ foamxy mpnvn Y — X1 f: X — Y nman
Synvaw I ffon foanrmpm.fo ff =idy

TNz o mw g(y)” P Y mimnn g: Y — X apnynnoik Yy mow m o f: X — Y oxr ja05

S amgnrointmpna.f Y nen 7 f(z) = y wpnn X 2

g fv go f =idx wmm mY Yoman mpnyn g Y — X v f: X — Y nman :an
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| .n! RN
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apprial) fla: A — Y apnynanun AY f 50 mwnxn X Sw nvap nn Aamapnyn f: X — Yo (r)
R>o={z € R| 2 > 0} YRnz — z? npnynn ,nma1y .z € A9 fla(x) = f(x) mnn oy
59127 70 T un R 9 nmigny 0% .1931p 0 0 RS 09IR Y AN

Mmy z(i) =z; v P e {l,...,n} — X mypna mn X nvap Yo R Yo (1, ...,2,) PN ()
da=1,...,nmyx; =x,w,(x1,...,2,) = (2),...,2)) oreymmmam i =1,...,n
ya(l) = x1 v 2 {1,2} — X apnyn un X mMar Y0 (z1, 22) »1o Y1py ,n = 2 191y 010
A0 umw {{z1}, {z1,z2}} nwapa (1, 22) 21 DI DY DTN APR W NN .2 (2) = X9
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220 1 RINYW PR My X Y9 ok pn mn X 5w 071aR Yo mao 1170
93 My z(i) = z; mw x: N — X mypno mn X 50 omar Yo (21, x2, 3, .. .) (MWOPR) 79710 (3)
.2 '»1V 190n
X 5Y nmpnynn 53 qox min XY nvapn (1)
xn 2 nww A: I — P(X) npnyna mx1 im X nviap Sw mwap nn v {A; | i € I} nanawn (1)
| A;

R ,NPa Mwap 0 Y v X orw o X movo nwniapa oiaxa teon nr | X| 2 jpoy on

| JXY ] = | X|V
x € X 99 f(x) <g(z)or f<gmo f,g: X — R nvepns imna

1981 A Y0 xa: X — {0, 1} myarn mepnon nx 1 X Yo A nviap nn 9% .aviap X oan o0

:R2AN

wer- {4 254

:MIRIN MUYV DR NN

ACB<+=xa<xs (®

XANB = XAXB = min(xa, xB} (2)

XAUB = XA + XB — XanB = max(Xa,xB) O
Xx~a=1=—xa

| XAnrB = |xa —xB| (M)

mn mvap Y {A; | i € 1} qor Yo mroIpn nbaomn

[Ta={r1-{JAilicIm f(i)c A}
i€l el
5w MIVIPR NYaNN i 93 a; € A; 1w X Mar Yo (aq, ..., ay) DY N Y3 GOR XN H?Zl A; vima
.D»Ynn oMoon YV N A Y qor N0 R™ ;0101 .A™ 2 95 nd mnon ASv mpny n
mmpn g Y Yo f(A) = {f(a)| a € A} nyapnnn A € X 9% .apnyn f: X — Y onn
nwn f 9 .f"Y(B) = {z € X| f(z) € B} jnva B C Y may .f nnn A Sv mnn 1 (image)
wnw . fha mnonn P(A) nY P(B) n wepnay f 2 ®00 qr mnond P(B) pnd P(A) n nepns

.f nnn B Yw (inverse image) nmann nnnn
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99 w(w~H(B)) = B 1 % ma (2, y) = 207 9 nmnn m: R? — R nboan mena ,nm7»
BCX

AN NP 931 PA0AY W L f Y N239AN NPRYAN IR O3 Jnon 1R 5 137y T TN f DR 119 Dv

TN N0 DNODN R

v NN Y Y9 nwvp nn B, onn ¢ o€ I 9% apovn f: X — Y oan :an
~f71<ﬂi€1' Bi) = Nier f7H(Bi) fﬁl(Uz‘e[ B;) = Uier fH(By)
v Y 70 L f(User i) = Uier f(4:) v non X S0 axap nn A; wan i € T 93

L 'f(miel Ai) 7& ﬂie] Ai

_ az+b .
wn | + |d| # 0 v 12 orwnn oyap a,b, ¢, d wra ,x 1 monn wwna f(z) = E57 0
M2y wion Mva Ren A1 Apna .ad — be # 0 orR pN DR W N N f v AR Lf SO 1N oinn
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A~ B oy nrnpnma LB 5 A Y9 m7y 0 I apnyn np or B axinpd nhpw A nnapw nx
A NB =0vANB=0,B~ B",A~ A’ or 229 700°0 700 MNP 12 MYpwn ons

AUB~ AU B 1y

nvapn . X 5 nopwa Card 2 a arn nnx axiap nwp X aviap 55w 70 myap 5w Card aponn nmp :nnin
.a = |A| jpon A 5w (cardinality) mxyn o1 X v (cardinal number) nnnn 9aonn 8790 a

.0Max n M mviapn 9 5w anpn oA xan ={0,1,...,n — 1} IO

v B nnxy S0 nbw nrr A pnxyw mn B v aviap nns anpw A ox .mviap onw By A aman
mop A nnxyw mx B 9 agpw ark A 125 qona ox | A| < |B| jpon B nnxyb mw r mop A nnyy
1 |A] < |B| or mb 720 |A| < |A| b ,ann < omaw agw mamann (| A| < |B| mon B nnyyn
prpma.|Al = |B| s, |B| < |A] 1|A] < |B| oxw maarpaarovaoonn | Al < |C| o, |B| < |C]

JYNAT 13 THHNY P PIIW N DI W IR IININA DY DR .ARIWYAY MINI MNYY oY 95% 173 At

TINIIT

JAl < |B|m,b#c1B={bc} ,A={a} or (®)
W NI o+ apnpnn P [N| < [QN [0, 1] (2)
N < 0, 1Y) o)

2% =P(X)]

AX ~ AY e X ~Y DR (n)

20 A7mn mm yan (1) 02X | = 21X e ()

nmpnn Apnya sy 10 mamw apnya @: P(X) — P(X) »am aviap X oap mmawn N nnYy

w(B) =B wvpBcP(X) npmnmonmerwmACB = p(A) C o(B)

w(B)=Bovmm B=J e, Amn A={Ac P(X)| ACp(A)}qoxamm
e A5 .0 Cp() vrea .nnap HI1 nHM NPIN NNAPNY DN YR
B=UseaACUncar(A) Co(B) 1w p(A) Cp(B)1p»,AC B, Ac Ao
oy ™ @(B) C B v B nmmm %m0 o(B) € A 15 .p(B) C o(p(B)) v yan mmn

[ 2w 93 ,0(B) = B v oYapn 1xr nnTipn npoan Yv mponn

nopw X nn, X swnavapnnopapw Y 1Y awap b aviap nnb anpw X A¥iap ox rOWINATII017 DOWUD

Y5
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% p: P(X) — P(X) apnyn m nvaw mmmpnyn g: Y — X1 f: X — Y nman :anon
p(B) = B w7 X Y9 B avap nn nwp 1PN 170 mmw o o p(A) = X N g(Y N f(A))
npn gly g v vymmm X NB =g(Y N f(B)) po X ~g(Y ™~ f(B)) = B ,minx oom

oy mmnn h: X — Y apnyan X N\ B Y mw miera Y N f(B) nr

[ flx) x € B
Mz) = { (9ly—fm) ' (x) z€X B

| Y 9y 57y 1 1 jara X nr apnyn
:N1j70D
AX| = 1Y e, |Y] < | X1 X <|Y| o8 (®)
AX| < | Z] e, |Y| < |Z] 1| X]| < |Y| ox (2)
AX < |Z] e |V < |Z|1|X]| < |[Y] D8 ()
|X| < |P(X)| opnn X aviap 995 1017 0own
X < |P(X)| 095 P(X) 90 oo 0 0 ja83 X nr apnyn @ — {x} npnynn :nom
nmapn nm o gam JP(X) % X Yv f mowy o apnyn nmpw nhva mon
mwaa € Aok f(a) =Avpac X owpamnogd XwA={recX|z¢flx)}

JPY rpo n9ap orppn Wi .a € AP a ¢ fla) m,ad Aok .a g Apa ¢ f(a)
X[ <[PX)]

.m < 2™ ppnnm aney 935 :n1jgon
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N={1,2,3,...}yw=1{0,1,2,...} ovmn

(X1 PYRIN b:u))gn DR 0T NN pYT Ina

12PN DR DI T AN 92 DY T 71923100 120 AXIAPN DR N20N X %137 D%P :N'OIDYT'RN NXIAFZN NNDI'DTR

Uz}

(transitive) prxy N3P NRIPI MPODIRN NXIAPN NNPDPRI PAINN RIND DR Nwppn X nxnap
Xo v o X 2 A Ponn DR o LRkeY 90 X Y9 mreyn mxapn nn 95 pnn oy R ,nrey X ox
X 2150 nrr

Z = X UY jno .Y S0 mrevn mxapn nn 9 nn Yy onm naon nrey nvap Y oonn 1N
v yan Xo mamnn arey Zg € X 99 .Zo € Xp v19a .Z Sw mRYD mMxApn nn Y5 inn Zp onm
Xo =2y 30 .Yy = Zygwyannmtiava . Xg = Zp ,1pv . Xog C 2

M APIN I¥IAPN DR 1NN NP R X DRY YA w YV MM 1mnnn w1 X DR 003

Avnnan v w = {0,1,2,3,. ..t v vimaw C X wazU{z} € Xvymae e X

P nnaonn v apran avaph ok .w n7an ow mwver anan P ooan mapYwun (rxpimakn) axwnn Ny

P amonp v w 5w ax 95 x,x U {x} 9 01 ammo or nyan x 12y amnom
| X = w vy w nr 1Hnn anonan P nmnn vhya w Mar v nviap nk X 100y a0
A9 9pwnn € w mp or oo npn A nvap

SININ MDA W N E W 95 NS T3 AW ANIYAZ wonwh 'ran
Denwld=n (R

aU{z}enwzU{x} =n,x €nox (2)

M E M BRT NIVP M W IR .W SY DR ML, N Y PN
M<mOaRmM < nOWR,M FE N ORY N9 0TI AN5Y ARIWA2 wanwn  (R)

d<nmm<nil<moxenn (1)
JIUNT R W w SW NPT RS NI NN S5 N AN

AH9pon n € w mp DR Moo npn A nviap
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JX Nz} =n—1m,2€ X 1|X| =n ox :myn
JI0XY 5 AMNI TPPIN AP OIS A9PY APR 910 A¥IP |I0DYD

Dar 7 P1 X nviap np 1mMavw Mymn 3aonn 7> 000 10 IR PaYNNY 1YYwa - AN

1PY (MR AP N oY PR Apan avaph ) X # 0o anxy Yv A amri nviap nnb a%pwn
n=X[>1

X = XNz} mom . f(z) # 21 A C XN{z} 1 o€ XNA mp amnn

a9 qom AT C X f(x) € XINA VA C X o o ff = flaoy A = AN{f(2)}

i 90 Ny avnoa, | X | =n— i maw mm [ X — A
Sy fowvwmmapnya f: X — X 1mwomo aviap X oan ianxin

J'(y) € 71 (y) marna apaarr fHy) nvapny € Y 935 9y npnvn f: X — Y oan
JSof =idy v f(f'(y)) = y o (pPn2n nnyopra x@0rRA PR 9N f7(y) nr IN2Y n1warn)

50 n nrapain oy o apnya an [ Y — X 199
JgowInn foax,ow fr X — X ymwowavap ma X oy :aRxin
| JWw I oy ron Sy P oow v Yo n 1 X — X oo canon

H1163>15}5)
Joo A rx o avap bw avap nnmn A ox - (R)
oo myp AB 1 AU B, A x B,ANB pins,nroomyapin A, B ox (2)

g P(A) imaw A ox ()
JA| 5y yprmra :x nnon

0 L,(R) 20Y 199 A S phn AN B nyapn  :20m0m

h: A x B — mn apnynn nr 5 nvow M mpnyn g: B — ny f: A — m any v
5y 3w I ®n h(a,b) = f(a) +mg(b) 1 %y mMmnn

mpnma.h(b) =m—+g(b)rh(a) = f(a) P h: AUB - m+nrmyynumy By Aor
Ompn npn (R) 2 vnnwn AU B = AU (B A) minm vnnw *Y9an

v R nevvn ndbn a1 om,n > 1w mpna proym \AB] = m" v oM NX
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